

http://www.aimspress.com/journal/Math

AIMS Mathematics, 6(7): 7456–7478.

DOI:10.3934/math.2021436 Received: 08 March 2021 Accepted: 30 April 2021 Published: 07 May 2021

Research article

Some inequalities for multiplicative tempered fractional integrals involving the λ -incomplete gamma functions

Hao Fu¹, Yu Peng¹ and Tingsong Du^{1,2,*}

- Department of Mathematics, College of Science, China Three Gorges University, Yichang 443002, China
- ² Three Gorges Mathematical Research Center, China Three Gorges University, Yichang 443002, China
- * Correspondence: Email: tingsongdu@ctgu.edu.cn.

Abstract: In this paper, we introduce a class of the multiplicative tempered fractional integral operators. Then, we investigate two Hermite–Hadamard type inequalities for this class. By using the established identity and the multiplicative convexity, we establish some integral inequalities for the multiplicative tempered fractional integrals involving the λ -incomplete gamma functions. And our results obtained in the present paper generalize some results given by Budak and Tunç (2020) and Ali et al. (2019). Also, we provide three examples to demonstrate the simplicities of the calculations.

Keywords: Hermite–Hadamard inequality; fractional integrals; multiplicative tempered fractional integrals; multiplicatively convex mappings

Mathematics Subject Classification: 26A33, 26A51, 26D10, 26D15

1. Introduction and preliminaries

The convexity of functions is a powerful tool to deal with many kinds of issues of pure and applied science. In recent decades, many authors have devoted themselves to studying the properties and inequalities related to convexity in different directions, see [13,21,23,34,52] and the references cited therein. One of the most important mathematical inequalities concerning convex mapping is Hermite–Hadamard inequality, which is also utilized widely in many other disciplines of applied mathematics. Let's review it as follows:

Let $f : \mathcal{K} \subseteq \mathbb{R} \to \mathbb{R}$ be a convex mapping defined on the interval \mathcal{K} of real numbers and $\tau_1, \tau_2 \in \mathcal{K}$ with $\tau_1 < \tau_2$. The subsequent inequalities are called Hermite–Hadamard inequalities:

$$f\left(\frac{\tau_1 + \tau_2}{2}\right) \le \frac{1}{\tau_2 - \tau_1} \int_{\tau_1}^{\tau_2} f(t) dt \le \frac{f(\tau_1) + f(\tau_2)}{2}.$$
 (1.1)

Many inequalities have been established in terms of inequalities (1.1) via functions of different classes, such as convex functions [28], s-convex functions [33], (α, m) -convex functions [47], harmonically convex functions [16], h-convex functions [18], strongly exponentially generalized preinvex functions [29], h-preinvex functions [37], p-quasiconvex functions [3], etc. For more recent results about this topic, the readers may refer to [13, 22, 25, 26, 30, 32, 36] and the references cited therein.

The multiplicatively convex function is one of the most significant functions, which can be defined as follows.

Definition 1. A mapping $f: I \subseteq \mathbb{R} \to [0, \infty)$ is said to be multiplicatively convex or log-convex, if log f is convex or equivalently for all $\tau_1, \tau_2 \in I$ and $t \in [0, 1]$, one has the following inequality:

$$f(t\tau_1 + (1-t)\tau_2) \le [f(\tau_1)]^t [f(\tau_2)]^{1-t}.$$

From Definition 1, it follows that

$$f(t\tau_1 + (1-t)\tau_2) \le [f(\tau_1)]^t [f(\tau_2)]^{1-t} \le tf(\tau_1) + (1-t)f(\tau_2),$$

which reveals that every multiplicatively convex function is a convex mapping, but the converse is not true.

Many properties and inequalities associated with log-convex mappings have been studied by plenty of researchers. For example, Bai and Qi [9] gave several integral inequalities of the Hermite–Hadamard type for log-convex mappings. Dragomir [20] provided some unweighted and weighted inequalities of Hermite–Hadamard type related to log-convex mappings on real intervals. Set and Ardiç [46] established certain Hermite–Hadamard-like type integral inequalities involving log-convex mappings and *p*-functions. Zhang and Jiang [53] researched some properties for log-convex mapping. For more results on the basis of log-convex mappings, one can see, for example, [10, 39, 40, 49, 50] and the references cited therein.

In 2008, Bashirov [11] proposed a class of the multiplicative operators called *integral, which is denoted by $\int_a^b (f(x))^{dx}$ and the ordinary integral is denoted by $\int_a^b f(x) dx$. Recall that the function f is multiplicatively integrable on [a,b], if f is positive and Riemann integrable on [a,b] and

$$\int_a^b (f(x))^{\mathrm{d}x} = e^{\int_a^b \ln(f(x)) \mathrm{d}x}.$$

Definition 2. [11] Let $f : \mathbb{R} \to \mathbb{R}^+$ be a positive function. The multiplicative derivative of function f is given by

$$\frac{\mathrm{d}^* f}{\mathrm{d}t}(t) = f^*(t) = \lim_{h \to 0} \left(\frac{f(t+h)}{f(h)} \right)^{\frac{1}{h}}.$$

If f has positive values and is differentiable at t, then f^* exists and the relation between f^* and ordinary derivative f' is as follows:

$$f^*(t) = e^{\left[\ln f(t)\right]'} = e^{\frac{f'(t)}{f(t)}}$$

The following properties of *differentiable exist:

Theorem 1. [11] Let f and g be *differentiable functions. If c is an arbitrary constant, then functions cf, fg, f+g, f/g and f^g are *differentiable and

$$(i) (cf)^* (t) = f^*(t),$$

$$(ii) (fg)^* (t) = f^*(t)g^*(t),$$

$$(iii) (f + g)^* (t) = f^*(t)^{\frac{f(t)}{f(t) + g(t)}} g^*(t)^{\frac{g(t)}{f(t) + g(t)}},$$

$$(iv) \left(\frac{f}{g}\right)^* (t) = \frac{f^*(t)}{g^*(t)},$$

$$(v) (f^g)^* (t) = f^*(t)^{g(t)} f(t)^{g'(t)}.$$

Moreover, Bashirov et al. show that the multiplicative integral has the following properties:

Proposition 1. [11] If f is positive and Riemann integrable on [a,b], then f is *integrable on [a,b] and

$$(i) \int_{a}^{b} ((f(x))^{p})^{dx} = \int_{a}^{b} ((f(x))^{dx})^{p},$$

$$(ii) \int_{a}^{b} (f(x)g(x))^{dx} = \int_{a}^{b} (f(x))^{dx}. \int_{a}^{b} (g(x))^{dx},$$

$$(iii) \int_{a}^{b} \left(\frac{f(x)}{g(x)}\right)^{dx} = \frac{\int_{a}^{b} (f(x))^{dx}}{\int_{a}^{b} (g(x))^{dx}},$$

$$(iv) \int_{a}^{b} (f(x))^{dx} = \int_{a}^{c} (f(x))^{dx}. \int_{c}^{b} (f(x))^{dx}, \quad a \le c \le b,$$

$$(v) \int_{a}^{a} (f(x))^{dx} = 1 \quad and \quad \int_{a}^{b} (f(x))^{dx} = \left(\int_{b}^{a} (f(x))^{dx}\right)^{-1}.$$

The interesting geometric mean type inequalities, known as the Hermite–Hadamard inequality for the multiplicatively convex functions, are shown by the following theorem in [7].

Theorem 2. Let f be a positive and multiplicatively convex function on interval [a,b], then the following inequalities hold

$$f\left(\frac{a+b}{2}\right) \le \left(\int_{a}^{b} (f(x))^{\mathrm{d}x}\right)^{\frac{1}{b-a}} \le \sqrt{f(a)f(b)}.$$
 (1.2)

Fractional calculus, as an advantageous tool, reveals its significance to implement differentiation and integration of real or complex number orders. Furthermore, it recently emerged rapidly due to its applications in modelling a number of problems especially in dealing with the dynamics of the complex systems, decision making in structural engineering and probabilistic problems, etc., see, for instance, [6,31]. The research of mathematical inequalities including many different types of fractional integral operators, especially the Hermite–Hadamard type inequalities, is a current research focus. For example, refer to [8, 19, 22] for Riemann–Liouville integrals, to *k*-Riemann–Liouville integrals [41], to Hadamard fractional integrals [4,48], to conformable fractional integrals [2,14], to Katugampola fractional integrals [17,51], and to exponential kernel integrals [5], etc.

An imperative generalization of Riemann-Liouville fractional integrals was considered by Abdeljawad and Grossman in [1], which is named the multiplicative Riemann-Liouville fractional integrals.

Definition 3. [1] The multiplicative left-sided Riemann–Liouville fractional integral ${}_a\mathcal{I}_*^{\alpha}f(x)$ of order $\alpha \in \mathbb{C}$, Re(α) > 0 is defined by

$$_{a}I_{*}^{\alpha}f(x) = e^{\left(I_{a+}^{\alpha}(\ln\circ f)\right)(x)}$$

and the multiplicative right-sided one ${}_*I^{\alpha}_{b}f(x)$ is defined by

$$_*\mathcal{I}_b^{\alpha}f(x) = e^{\left(\mathcal{I}_{b-}^{\alpha}(\ln\circ f)\right)(x)},$$

where the symbols $I_{a+}^{\alpha}f(x)$ and $I_{b-}^{\alpha}f(x)$ denote respectively the left-sided and right-sided Riemann–Liouville fractional integrals, which are defined by

$$I_{a+}^{\alpha}f(x) = \frac{1}{\Gamma(\alpha)} \int_{a}^{x} (x-t)^{\alpha-1} f(t) dt, \quad x > a,$$

and

$$I_{b-}^{\alpha}f(x) = \frac{1}{\Gamma(\alpha)} \int_{x}^{b} (t-x)^{\alpha-1} f(t) dt, \quad x < b,$$

respectively.

On the other hand, Sarikaya et al. proved the following noteworthy inequalities which are the Hermite–Hadamard inequalities for Riemann–Liouville fractional integrals.

Theorem 3. [44] Let $f : [a,b] \to \mathbb{R}$ be a positive function with $0 \le a < b$ and $f \in L^1([a,b])$. If f is a convex function on [a,b], then the following inequalities for fractional integrals hold:

$$f\left(\frac{a+b}{2}\right) \le \frac{\Gamma(\alpha+1)}{2(b-a)^{\alpha}} \left[\mathcal{I}_{a+}^{\alpha} f(b) + \mathcal{I}_{b-}^{\alpha} f(a) \right] \le \frac{f(a)+f(b)}{2},\tag{1.3}$$

with $\alpha > 0$.

Also, Sarikaya and Yildirim built another form relevant to Riemann–Liouville fractional Hermite–Hadamard type inequalities as follows.

Theorem 4. [45] Under the same assumptions of Theorem 3, we have

$$f\left(\frac{a+b}{2}\right) \le \frac{2^{\alpha-1}\Gamma(\alpha+1)}{(b-a)^{\alpha}} \left[I_{(\frac{a+b}{2})^+}^{\alpha} f(b) + I_{(\frac{a+b}{2})^-}^{\alpha} f(a)\right] \le \frac{f(a)+f(b)}{2}. \tag{1.4}$$

Sabzikar et al. provided the following tempered fractional operators.

Definition 4. [35] Let [a,b] be a real interval and $\lambda \ge 0$, $\alpha > 0$. Then for a function $f \in L^1([a,b])$, the left-sided and right-sided tempered fractional integrals are, respectively, defined by

$$I_{a+}^{\alpha,\lambda}f(x) = \frac{1}{\Gamma(\alpha)} \int_{a}^{x} (x-t)^{\alpha-1} e^{-\lambda(x-t)} f(t) dt, \quad x > a,$$

and

$$I_{b-}^{\alpha,\lambda}f(x) = \frac{1}{\Gamma(\alpha)} \int_{x}^{b} (t-x)^{\alpha-1} e^{-\lambda(t-x)} f(t) dt, \quad x < b.$$

For several recent related results involving the tempered fractional integrals, see [24, 38, 42, 43] and the references included there.

Motivated by the results in the papers above, especially these developed in [12, 38], this work aims to investigate some inequalities of Hermite–Hadamard type, which involve the tempered fractional integrals and the notion of the λ -incomplete gamma function for the multiplicatively convex functions. For this purpose, we establish two Hermite–Hadamard type inequalities for the multiplicative tempered fractional integrals, then we present an integral identity for *differentiable mappings, from which we provide certain estimates of the upper bounds for trapezoid inequalities via the multiplicative tempered fractional integral operators.

2. Main results

As one can see, the definitions of the tempered fractional integrals and the multiplicative fractional integrals have similar configurations. This observation leads us to present the following definition of fractional integral operators, to be referred to as the multiplicative tempered fractional integrals.

Definition 5. The multiplicative left-sided tempered fractional integral ${}_aI^{\alpha,\lambda}_*f(x)$ of order $\alpha \in \mathbb{C}$, $\operatorname{Re}(\alpha) > 0$, is defined by

$$_{a}I_{*}^{\alpha,\lambda}f(x)=e^{\left(I_{a+}^{\alpha,\lambda}(\ln\circ f)\right)(x)},\lambda\geq0,$$

and the multiplicative right-sided one ${}_*\mathcal{I}_h^{\alpha,\lambda}f(x)$ is defined by

$$_*\mathcal{I}_b^{\alpha,\lambda}f(x)=e^{\left(\mathcal{I}_{b^-}^{\alpha,\lambda}(\ln\circ f)\right)(x)},\lambda\geq 0,$$

where the symbols $I_{a+}^{\alpha,\lambda}f(x)$ and $I_{b-}^{\alpha,\lambda}f(x)$ denote the left-sided and right-sided tempered fractional integrals, respectively.

Observe that, for $\lambda = 0$, the multiplicative tempered fractional integrals become to the multiplicative Riemann–Liouville fractional integrals.

The following facts will be required in establishing our main results.

Remark 1. For the real numbers $\alpha > 0$ and $x, \lambda \geq 0$, the following identities hold:

$$(i) \gamma_{\lambda(b-a)}(\alpha, 1) = \frac{\gamma_{\lambda}(\alpha, b-a)}{(b-a)^{\alpha}}, \tag{2.1}$$

$$(ii) \int_0^1 \gamma_{\lambda(b-a)}(\alpha, x) dx = \frac{\gamma_{\lambda}(\alpha, b-a)}{(b-a)^{\alpha}} - \frac{\gamma_{\lambda}(\alpha+1, b-a)}{(b-a)^{\alpha+1}},$$
 (2.2)

where $\gamma_{\lambda}(\cdot,\cdot)$ is the λ -incomplete gamma function [38], which is defined as follows:

$$\gamma_{\lambda}(\alpha, x) = \int_0^x t^{\alpha - 1} e^{-\lambda t} dt.$$

If $\lambda = 1$, the λ -incomplete gamma function reduces to the incomplete gamma function [15]:

$$\gamma(\alpha, x) = \int_0^x t^{\alpha - 1} e^{-t} dt.$$

Proof. (i) By using the changed variable u = (b - a)t in the (2.1), we get

$$\gamma_{\lambda(b-a)}(\alpha,1) = \int_0^1 t^{\alpha-1} e^{-\lambda(b-a)t} dt = \int_0^{b-a} \left(\frac{u}{b-a}\right)^{\alpha-1} e^{-\lambda u} \left(\frac{1}{b-a}\right) du = \frac{\gamma_{\lambda}(\alpha,b-a)}{(b-a)^{\alpha}},$$

which ends the identity (2.1).

(ii) From the definition of λ -incomplete gamma function, we have

$$\int_0^1 \gamma_{\lambda(b-a)}(\alpha, x) \mathrm{d}x = \int_0^1 \int_0^x y^{\alpha-1} e^{-\lambda(b-a)y} \mathrm{d}y \mathrm{d}x.$$

By changing the order of the integration, we get

$$\int_{0}^{1} \gamma_{\lambda(b-a)}(\alpha, x) dx = \int_{0}^{1} \int_{y}^{1} y^{\alpha-1} e^{-\lambda(b-a)y} dx dy$$

$$= \int_{0}^{1} (1 - y) y^{\alpha-1} e^{-\lambda(b-a)y} dy$$

$$= \int_{0}^{1} y^{\alpha-1} e^{-\lambda(b-a)y} dy - \int_{0}^{1} y^{\alpha} e^{-\lambda(b-a)y} dy.$$

Applying the Remark 1 (i), we get the identity (2.2).

Our first main result is presented by the following theorem.

Theorem 5. Let f be a positive and multiplicatively convex function on interval [a,b], then we have the following Hermite–Hadamard inequalities for the multiplicative tempered fractional integrals:

$$f\left(\frac{a+b}{2}\right) \le \left[{}_{a}I_{*}^{\alpha,\lambda}f(b)\cdot_{*}I_{b}^{\alpha,\lambda}f(a)\right]^{\frac{\Gamma(a)}{2\gamma_{\lambda}(\alpha,b-a)}} \le \sqrt{f(a)f(b)},\tag{2.3}$$

where $\gamma_{\lambda}(\cdot,\cdot)$ is the λ -incomplete gamma function.

Proof. On account of the multiplicative convexity of f on interval [a, b], we have

$$f\left(\frac{a+b}{2}\right) = f\left(\frac{at + (1-t)b + (1-t)a + tb}{2}\right)$$

$$\leq \left[f(at + (1-t)b)\right]^{\frac{1}{2}} \left[f((1-t)a + tb)\right]^{\frac{1}{2}},$$

i.e.

$$\ln f\left(\frac{a+b}{2}\right) \le \frac{1}{2} \left[\ln f(at + (1-t)b) + \ln f((1-t)a + tb) \right]. \tag{2.4}$$

Multiplying both sides of (2.4) by $t^{\alpha-1}e^{-\lambda(b-a)t}$ then integrating the resulting inequality with respect to t over [0,1], we obtain

$$\ln f\left(\frac{a+b}{2}\right) \int_{0}^{1} t^{\alpha-1} e^{-\lambda(b-a)t} dt
\leq \frac{1}{2} \left[\int_{0}^{1} t^{\alpha-1} e^{-\lambda(b-a)t} \ln f\left(at + (1-t)b\right) dt + \int_{0}^{1} t^{\alpha-1} e^{-\lambda(b-a)t} \ln f\left((1-t)a + tb\right) dt \right].$$

Utilizing the changed variable, we have

$$\frac{1}{(b-a)^{\alpha}} \ln f\left(\frac{a+b}{2}\right) \int_{0}^{b-a} x^{\alpha-1} e^{-\lambda x} dx
\leq \frac{1}{2(b-a)^{\alpha}} \left[\int_{a}^{b} (b-x)^{\alpha-1} e^{-\lambda(b-x)} \ln f(x) dx + \int_{a}^{b} (x-a)^{\alpha-1} e^{-\lambda(x-a)} \ln f(x) dx \right].$$

That is,

$$\begin{split} \frac{\gamma_{\lambda}(\alpha,b-a)}{(b-a)^{\alpha}} & \ln f\left(\frac{a+b}{2}\right) \leq \frac{1}{2(b-a)^{\alpha}} \left[\int_{a}^{b} (b-x)^{\alpha-1} e^{-\lambda(b-x)} \ln f(x) \mathrm{d}x + \int_{a}^{b} (x-a)^{\alpha-1} e^{-\lambda(x-a)} \ln f(x) \mathrm{d}x \right], \\ & \ln f\left(\frac{a+b}{2}\right) \leq \frac{\Gamma(\alpha)}{2\gamma_{\lambda}(\alpha,b-a)} \left[\mathcal{I}_{a+}^{\alpha,\lambda} \ln f(b) + \mathcal{I}_{b-}^{\alpha,\lambda} \ln f(a) \right]. \end{split}$$

Thus we get,

$$\begin{split} f\left(\frac{a+b}{2}\right) &\leq e^{\frac{\Gamma(\alpha)}{2\gamma_{\lambda}(\alpha,b-a)}\left[I_{a+}^{\alpha,\lambda}\ln f(b) + I_{b-}^{\alpha,\lambda}\ln f(a)\right]} \\ &= \left[e^{I_{a+}^{\alpha,\lambda}\ln f(b)}e^{I_{b-}^{\alpha,\lambda}\ln f(a)}\right]^{\frac{\Gamma(\alpha)}{2\gamma_{\lambda}(\alpha,b-a)}} \\ &= \left[aI_{*}^{\alpha,\lambda}f(b)\cdot_{*}I_{b}^{\alpha,\lambda}f(a)\right]^{\frac{\Gamma(\alpha)}{2\gamma_{\lambda}(\alpha,b-a)}}, \end{split}$$

which completes the proof of the first inequality in (2.3).

On the other hand, as f is multiplicatively convex on interval [a, b], we have

$$f(at + (1-t)b) < [f(a)]^t [f(b)]^{1-t}$$

and

$$f((1-t)a+tb) \le [f(a)]^{1-t}[f(b)]^t.$$

Thus,

$$\ln f(at + (1 - t)b) + \ln f((1 - t)a + tb)$$

$$\leq t \ln f(a) + (1 - t) \ln f(b) + (1 - t) \ln f(a) + t \ln f(b)$$

$$= \ln f(a) + \ln f(b).$$
(2.5)

Multiplying both sides of (2.5) by $t^{\alpha-1}e^{-\lambda(b-a)t}$ then integrating the resulting inequality with respect to t over [0, 1], we obtain

$$\int_{0}^{1} t^{\alpha-1} e^{-\lambda(b-a)t} \ln f(at + (1-t)b) dt + \int_{0}^{1} t^{\alpha-1} e^{-\lambda(b-a)t} \ln f((1-t)a + tb) dt$$

$$\leq \left[\ln f(a) + \ln f(b) \right] \int_{0}^{1} t^{\alpha-1} e^{-\lambda(b-a)t} dt.$$

Hence,

$$\frac{\Gamma(\alpha)}{2\gamma_{1}(\alpha,b-a)} \left[I_{a+}^{\alpha,\lambda} \ln f(b) + I_{b-}^{\alpha,\lambda} \ln f(a) \right] \leq \frac{1}{2} \left[\ln f(a) + \ln f(b) \right].$$

Consequently, we have the following inequality

$$e^{\left[I_{a+}^{\alpha,\lambda}\ln f(b)+I_{b-}^{\alpha,\lambda}\ln f(a)\right]\frac{\Gamma(a)}{2\gamma_{\lambda}(a,b-a)}}\leq \sqrt{f(a)f(b)},$$

i.e.

$$\left[{}_{a}\mathcal{I}_{*}^{\alpha,\lambda}f(b)\cdot_{*}\mathcal{I}_{b}^{\alpha,\lambda}f(a)\right]^{\frac{\Gamma(\alpha)}{2\gamma_{\lambda}(\alpha,b-a)}}\leq\sqrt{f(a)f(b)}.$$

This ends the proof.

Remark 2. Considering Theorem 5, we have the following conclusions:

(i) The inequalities (2.3) are equivalent to the following inequalities:

$$\ln f\left(\frac{a+b}{2}\right) \leq \frac{\Gamma(\alpha)}{2\gamma_{\lambda}(\alpha,b-a)} \left[\mathcal{I}_{a+}^{\alpha,\lambda} \ln f(b) + \mathcal{I}_{b-}^{\alpha,\lambda} \ln f(a) \right] \leq \frac{1}{2} \left[\ln f(a) + \ln f(b) \right].$$

(ii) If we choose $\lambda = 0$, then we have the following inequalities:

$$f\left(\frac{a+b}{2}\right) \leq \left[aI_*^{\alpha}f(b) \cdot_* I_b^{\alpha}f(a)\right]^{\frac{\Gamma(\alpha+1)}{2(b-a)^{\alpha}}} \leq \sqrt{f(a)f(b)},$$

which is given by Budak in [12].

(iii) If we choose $\lambda = 0$ and $\alpha = 1$, then we obtain Theorem 2 given by Ali et al. in [7].

Corollary 1. Suppose that f and g are two positive and multiplicatively convex functions on [a, b], then we have

$$f\left(\frac{a+b}{2}\right)g\left(\frac{a+b}{2}\right) \le \left[{}_{a}I_{*}^{\alpha,\lambda}fg(b) \cdot_{*}I_{b}^{\alpha,\lambda}fg(a)\right]^{\frac{\Gamma(\alpha)}{2\gamma_{\lambda}(a,b-a)}} \le \sqrt{f(a)f(b)} \cdot \sqrt{g(a)g(b)}. \tag{2.6}$$

Proof. As f and g are positive and multiplicatively convex, the function fg is positive and multiplicatively convex. If we apply Theorem 5 to the function fg, then we obtain the required inequalities (2.6).

Remark 3. If we take $\lambda = 0$ in Corollary 1, then we have the following inequalities:

$$f\left(\frac{a+b}{2}\right)g\left(\frac{a+b}{2}\right) \leq \left[{_aI_*^{\alpha}fg(b)} \cdot {_*I_b^{\alpha}fg(a)}\right]^{\frac{\Gamma(\alpha+1)}{2(b-a)^{\alpha}}} \leq \sqrt{f(a)\,f(b)} \cdot \sqrt{g(a)\,g(b)},$$

which is established by Budak in [12]. Especially if we take $\alpha = 1$, we obtain Theorem 7 in [7].

Hermite-Hadamard's inequalities involving midpoint can be represented in the multiplicative tempered fractional integral forms as follows:

Theorem 6. Under the same assumptions of Theorem 5, we have

$$f\left(\frac{a+b}{2}\right) \le \left[\frac{a+b}{2}I_*^{\alpha,\lambda}f(b)\cdot_*I_{\frac{a+b}{2}}^{\alpha,\lambda}f(a)\right]^{\frac{\Gamma(a)}{2\gamma_{\lambda}\left(\alpha,\frac{b-a}{2}\right)}} \le \sqrt{f(a)f(b)},\tag{2.7}$$

where $\gamma_{\lambda}(\cdot,\cdot)$ is the λ -incomplete gamma function.

Proof. On account of the multiplicative convexity of f on interval [a, b], we have

$$f\left(\frac{a+b}{2}\right) = f\left[\frac{1}{2}\left(\frac{t}{2}a + \frac{2-t}{2}b\right) + \frac{1}{2}\left(\frac{2-t}{2}a + \frac{t}{2}b\right)\right],$$

i.e.

$$\ln f\left(\frac{a+b}{2}\right) \le \frac{1}{2} \left[\ln f\left(\frac{t}{2}a + \frac{2-t}{2}b\right) + \ln f\left(\frac{2-t}{2}a + \frac{t}{2}b\right) \right]. \tag{2.8}$$

Multiplying both sides of (2.8) by $t^{\alpha-1}e^{-\frac{\lambda(b-a)}{2}t}$ then integrating the resulting inequality with respect to t over [0,1], we obtain

$$\ln f\left(\frac{a+b}{2}\right) \int_{0}^{1} t^{\alpha-1} e^{-\frac{\lambda(b-a)}{2}t} dt \\
\leq \frac{1}{2} \left[\int_{0}^{1} t^{\alpha-1} e^{-\frac{\lambda(b-a)}{2}t} \ln f\left(\frac{t}{2}a + \frac{2-t}{2}b\right) dt + \int_{0}^{1} t^{\alpha-1} e^{-\frac{\lambda(b-a)}{2}t} \ln f\left(\frac{2-t}{2}a + \frac{t}{2}b\right) dt \right].$$

That is,

$$\frac{2^{\alpha}}{(b-a)^{\alpha}}\gamma_{\lambda}\left(\alpha,\frac{b-a}{2}\right)\ln f\left(\frac{a+b}{2}\right) \leq \frac{2^{\alpha-1}}{(b-a)^{\alpha}}\Gamma(\alpha)\left[I_{\left(\frac{a+b}{2}\right)+}^{\alpha,\lambda}\ln f(b) + I_{\left(\frac{a+b}{2}\right)-}^{\alpha,\lambda}\ln f(a)\right],$$

which yields that,

$$\begin{split} f\left(\frac{a+b}{2}\right) &\leq e^{\left[I_{\left(\frac{a+b}{2}\right)^{+}}^{\alpha,\lambda}\ln f(b) + I_{\left(\frac{a+b}{2}\right)^{-}}^{\alpha,\lambda}\ln f(a)\right] \frac{\Gamma(\alpha)}{2\gamma_{\lambda}\left(\alpha,\frac{b-a}{2}\right)}} \\ &= \left[\frac{a+b}{2}I_{*}^{\alpha,\lambda}f(b)\cdot_{*}I_{\frac{a+b}{2}}^{\alpha,\lambda}f(a)\right]^{\frac{\Gamma(\alpha)}{2\gamma_{\lambda}\left(\alpha,\frac{b-a}{2}\right)}}. \end{split}$$

This completes the proof of the first inequality in inequalities (2.7).

On the other hand, as f is multiplicatively convex, we get

$$f\left(\frac{t}{2}a + \frac{2-t}{2}b\right) \le [f(a)]^{\frac{t}{2}}[f(b)]^{\frac{2-t}{2}},$$

and

$$f\left(\frac{2-t}{2}a+\frac{t}{2}b\right) \le [f(a)]^{\frac{2-t}{2}}[f(b)]^{\frac{t}{2}}.$$

Thus, we have

$$\ln f\left(\frac{t}{2}a + \frac{2-t}{2}b\right) + \ln f\left(\frac{2-t}{2}a + \frac{t}{2}b\right) \le \ln f(a) + \ln f(b). \tag{2.9}$$

Multiplying both sides of (2.9) by $t^{\alpha-1}e^{-\frac{\lambda(b-a)}{2}t}$ then integrating the resulting inequality with respect to t over [0,1], we have

$$\frac{2^{\alpha}}{(b-a)^{\alpha}}\Gamma(\alpha)\left[I_{\left(\frac{a+b}{2}\right)+}^{\alpha,\lambda}\ln f(b)+I_{\left(\frac{a+b}{2}\right)-}^{\alpha,\lambda}\ln f(a)\right]\leq \frac{2^{\alpha}}{(b-a)^{\alpha}}\gamma_{\lambda}\left(\alpha,\frac{b-a}{2}\right)\left[\ln f(a)+\ln f(b)\right],$$

i.e.

$$\frac{\Gamma(\alpha)}{2\gamma_{\lambda}(\alpha,\frac{b-a}{2})} \left[I_{\left(\frac{a+b}{2}\right)+}^{\alpha,\lambda} \ln f(b) + I_{\left(\frac{a+b}{2}\right)-}^{\alpha,\lambda} \ln f(a) \right] \leq \frac{1}{2} \left[\ln f(a) + \ln f(b) \right].$$

Consequently, we get the inequality

$$\left[\frac{\frac{a+b}{2}}{I}_{*}^{\alpha,\lambda}f(b)\cdot_{*}I_{\frac{a+b}{2}}^{\alpha,\lambda}f(a)\right]^{\frac{\Gamma(\alpha)}{2\gamma_{\lambda}(\alpha,\frac{b-a}{2})}}\leq \sqrt{f(a)f(b)}.$$

This ends the proof.

Next, we are going to establish several integral inequalities concerning the multiplicative tempered fractional integral operators. To this end, we present the following lemma.

Lemma 1. Let $f: I^{\circ} \subset \mathbb{R} \to \mathbb{R}^+$ be a *differentiable mapping on I° , $a, b \in I^{\circ}$ with a < b. If f^* is integrable on [a, b], then we have

$$\frac{\sqrt{f(a) f(b)}}{\left[{}_{a}\mathcal{I}_{*}^{\alpha,\lambda} f(b) \cdot_{*} \mathcal{I}_{b}^{\alpha,\lambda} f(a)\right]^{\frac{\Gamma(a)}{2\gamma_{A}(\alpha,b-a)}}} = \int_{0}^{1} \left[f^{*}(ta + (1-t)b)^{\eta(\gamma_{\lambda(b-a)}(\alpha,t) - \gamma_{\lambda(b-a)}(\alpha,1-t))} \right]^{\mathrm{d}t}, \tag{2.10}$$

where

$$\eta = \frac{(b-a)^{\alpha}}{2\gamma_{\lambda}(\alpha, b-a)}. (2.11)$$

Proof. Applying the multiplicative integration by parts, we have

$$\begin{split} \int_{0}^{1} \left[f^{*}(ta + (1-t)b)^{\eta(\gamma_{\lambda(b-a)}(\alpha,t) - \gamma_{\lambda(b-a)}(\alpha,1-t))} \right]^{\mathrm{d}t} \\ &= \frac{f(a)^{\eta\gamma_{\lambda(b-a)}(\alpha,1)}}{f(b)^{-\eta\gamma_{\lambda(b-a)}(\alpha,1)}} \cdot \frac{1}{\int_{0}^{1} \left(f(ta + (1-t)b)^{\eta(t^{\alpha-1}e^{-\lambda(b-a)t + (1-t)^{\alpha-1}e^{-\lambda(b-a)(1-t)})} \right)^{\mathrm{d}t}} \end{split}$$

$$\begin{split} &= \frac{\left[f(a) \cdot f(b) \right]^{\eta \gamma_{\lambda(b-a)}(\alpha,1)}}{\exp\left\{ \int_{0}^{1} \eta \ln f(ta + (1-t)b) \cdot t^{\alpha-1} e^{-\lambda(b-a)t} \mathrm{d}t + \int_{0}^{1} \eta \ln f(ta + (1-t)b) \cdot (1-t)^{\alpha-1} e^{-\lambda(b-a)(1-t)} \mathrm{d}t \right\}} \\ &= \frac{\left[f(a) \cdot f(b) \right]^{\eta \frac{\gamma_{\lambda}(\alpha,b-a)}{(b-a)^{\alpha}}}}{\exp\{I_{1} + I_{2}\}}. \end{split}$$

Utilizing the changed variable, we obtain

$$I_{1} = \eta \int_{0}^{1} \ln f(ta + (1 - t)b)t^{\alpha - 1}e^{-\lambda(b - a)t}dt$$

$$= \frac{\eta}{(b - a)^{\alpha}} \int_{a}^{b} \ln f(u)(b - u)^{\alpha - 1}e^{-\lambda(b - u)}du$$

$$= \frac{\eta \Gamma(\alpha)}{(b - a)^{\alpha}} I_{a+}^{\alpha, \lambda} \ln f(b),$$

and

$$I_{2} = \eta \int_{0}^{1} \ln f(ta + (1-t)b)(1-t)^{\alpha-1}e^{-\lambda(b-a)(1-t)}dt$$

$$= \frac{\eta}{(b-a)^{\alpha}} \int_{a}^{b} \ln f(u)(u-a)^{\alpha-1}e^{-\lambda(u-a)}du$$

$$= \frac{\eta \Gamma(\alpha)}{(b-a)^{\alpha}} \mathcal{I}_{b-}^{\alpha,\lambda} \ln f(a).$$

Then, we have

$$\int_{0}^{1} \left[f^{*}(at + (1-t)b)^{\eta(\gamma_{\lambda(b-a)}(\alpha,t)-\gamma_{\lambda(b-a)}(\alpha,1-t))} \right]^{dt}$$

$$= \frac{\sqrt{f(a) f(b)}}{\exp\left\{\frac{\Gamma(\alpha)}{2\gamma_{\lambda}(\alpha,b-a)} \left[I_{a+}^{\alpha,\lambda} \ln f(b) + I_{b-}^{\alpha,\lambda} \ln f(a) \right] \right\}}$$

$$= \frac{\sqrt{f(a) f(b)}}{\left[{}_{a}I_{*}^{\alpha,\lambda} f(b) \cdot {}_{*}I_{b}^{\alpha,\lambda} f(a) \right]^{\frac{\Gamma(\alpha)}{2\gamma_{\lambda}(\alpha,b-a)}}}.$$

This ends the proof.

Remark 4. Considering Lemma 1, we have the following conclusions:

(i) If we take $\lambda = 0$, then we have

$$\frac{\sqrt{f(a)f(b)}}{\left[_{a}I_{*}^{\alpha}f(b)\cdot_{*}I_{b}^{\alpha}f(a)\right]^{\frac{\Gamma(\alpha+1)}{2(b-a)^{\alpha}}}} = \int_{0}^{1} \left(f^{*}(ta+(1-t)b)^{\frac{1}{2}[t^{\alpha}-(1-t)^{\alpha}]}\right)^{\mathrm{d}t}.$$
 (2.12)

(ii) If we take $\lambda = 0$ and $\alpha = 1$, then we have

$$\frac{\sqrt{f(a)f(b)}}{\int_{a}^{b} \left(f(u)^{\frac{1}{b-a}}\right)^{\mathrm{d}u}} = \int_{0}^{1} \left(f^{*}(ta + (1-t)b)^{\frac{1}{2}(2t-1)}\right)^{\mathrm{d}t}.$$
 (2.13)

It is worth mentioning that, to the best of our knowledge, the identities (2.12) and (2.13) obtained here are new in the literature.

Theorem 7. Let $f: I^{\circ} \subset \mathbb{R} \to \mathbb{R}^+$ be a *differentiable mapping on I° , $a, b \in I^{\circ}$ with a < b. If $|f^*|$ is multiplicatively convex on [a, b], then we have

$$\left| \frac{\sqrt{f(a)f(b)}}{\left[{}_{a}I_{*}^{\alpha,\lambda}f(b) \cdot_{*} I_{b}^{\alpha,\lambda}f(a) \right]^{\frac{\Gamma(\alpha)}{2\gamma\lambda(\alpha,b-a)}}} \right| \leq \left[|f^{*}(a)| \cdot |f^{*}(b)| \right]^{\eta\delta}, \tag{2.14}$$

where η is defined by (2.11) in Lemma 1 and

$$\delta = \frac{\gamma_{\lambda}(\alpha, b - a)}{(b - a)^{\alpha}} - \frac{\gamma_{\lambda}(\alpha, \frac{b - a}{2})}{(b - a)^{\alpha}} + \frac{2\gamma_{\lambda}(\alpha + 1, \frac{b - a}{2})}{(b - a)^{\alpha + 1}} - \frac{\gamma_{\lambda}(\alpha + 1, b - a)}{(b - a)^{\alpha + 1}}.$$
 (2.15)

Proof. Making use of Lemma 1, we deduce

$$\frac{\sqrt{f(a)f(b)}}{\left[aI_*^{\alpha,\lambda}f(b)\cdot_*I_b^{\alpha,\lambda}f(a)\right]^{\frac{\Gamma(\alpha)}{2\gamma_{\lambda}(\alpha,b-a)}}}$$

$$= \left|\int_0^1 \left[f^*(at+(1-t)b)^{\eta(\gamma_{\lambda(b-a)}(\alpha,t)-\gamma_{\lambda(b-a)}(\alpha,1-t))}\right]^{dt}\right|$$

$$\leq \exp\left\{\int_0^1 \left|\ln f^*(at+(1-t)b)^{\eta[\gamma_{\lambda(b-a)}(\alpha,t)-\gamma_{\lambda(b-a)}(\alpha,1-t)]}\right| dt\right\}$$

$$= \exp\left\{\int_0^1 \left|\eta[\gamma_{\lambda(b-a)}(\alpha,t)-\gamma_{\lambda(b-a)}(\alpha,1-t)]\right| \cdot \left|\ln f^*(at+(1-t)b)\right| dt\right\}.$$
(2.16)

As $t \in [0, 1]$, we can know

$$\left| \gamma_{\lambda(b-a)}(\alpha, t) - \gamma_{\lambda(b-a)}(\alpha, 1-t) \right| = \begin{cases} \int_{t}^{1-t} u^{\alpha-1} e^{-\lambda(b-a)u} du, & 0 \le t \le \frac{1}{2}, \\ \int_{1-t}^{t} u^{\alpha-1} e^{-\lambda(b-a)u} du, & \frac{1}{2} < t \le 1. \end{cases}$$
(2.17)

Since $|f^*|$ is multiplicatively convex, we get

$$|\ln f^*(ta + (1-t)b)| \le t \ln|f^*(a)| + (1-t)\ln|f^*(b)|. \tag{2.18}$$

If we apply (2.17) and (2.18) to the inequality (2.16), we obtain

$$\begin{split} & \frac{\sqrt{f(a)f(b)}}{\left[_{a}T_{*}^{\alpha,\lambda}f(b)\cdot_{*}T_{b}^{\alpha,\lambda}f(a)\right]^{\frac{\Gamma(\alpha)}{2\gamma_{\lambda}(\alpha,b-a)}}}{\left[_{a}T_{*}^{\alpha,\lambda}f(b)\cdot_{*}T_{b}^{\alpha,\lambda}f(a)\right]^{\frac{\Gamma(\alpha)}{2\gamma_{\lambda}(\alpha,b-a)}}} \\ & \leq \exp\left\{\eta\int_{0}^{\frac{1}{2}}\int_{t}^{1-t}u^{\alpha-1}e^{-\lambda(b-a)u}\mathrm{d}u[t\ln|f^{*}(a)|+(1-t)\ln|f^{*}(b)|]\mathrm{d}t \\ & +\eta\int_{\frac{1}{2}}^{1}\int_{1-t}^{t}u^{\alpha-1}e^{-\lambda(b-a)u}\mathrm{d}u[t\ln|f^{*}(a)|+(1-t)\ln|f^{*}(b)|]\mathrm{d}t \right\} \\ & = \exp\left\{\eta\ln|f^{*}(a)|\int_{0}^{\frac{1}{2}}\int_{t}^{1-t}tu^{\alpha-1}e^{-\lambda(b-a)u}\mathrm{d}u\mathrm{d}t + \eta\ln|f^{*}(b)|\int_{0}^{\frac{1}{2}}\int_{t}^{1-t}(1-t)u^{\alpha-1}e^{-\lambda(b-a)u}\mathrm{d}u\mathrm{d}t \\ & +\eta\ln|f^{*}(a)|\int_{\frac{1}{2}}^{1}\int_{1-t}^{t}tu^{\alpha-1}e^{-\lambda(b-a)u}\mathrm{d}u\mathrm{d}t + \eta\ln|f^{*}(b)|\int_{\frac{1}{2}}^{1}\int_{1-t}^{t}(1-t)u^{\alpha-1}e^{-\lambda(b-a)u}\mathrm{d}u\mathrm{d}t \right\} \\ & = \exp\left\{\eta\left(\ln|f^{*}(a)|\cdot\Delta_{1} + \ln|f^{*}(b)|\cdot\Delta_{2} + \ln|f^{*}(a)|\cdot\Delta_{3} + \ln|f^{*}(b)|\cdot\Delta_{4}\right)\right\}. \end{split}$$

Here, let's evaluate an integral by changing the order of it.

$$\begin{split} &\Delta_{1} = \int_{0}^{\frac{1}{2}} \int_{t}^{1-t} t u^{\alpha-1} e^{-\lambda(b-a)u} \mathrm{d}u \mathrm{d}t \\ &= \int_{0}^{\frac{1}{2}} \int_{0}^{u} t u^{\alpha-1} e^{-\lambda(b-a)u} \mathrm{d}t \mathrm{d}u + \int_{\frac{1}{2}}^{1} \int_{0}^{1-u} t u^{\alpha-1} e^{-\lambda(b-a)u} \mathrm{d}t \mathrm{d}u \\ &= \frac{1}{2} \Big[\int_{0}^{\frac{1}{2}} u^{\alpha+1} e^{-\lambda(b-a)u} \mathrm{d}u + \int_{\frac{1}{2}}^{1} (u^{2} - 2u + 1) u^{\alpha-1} e^{-\lambda(b-a)u} \mathrm{d}u \Big] \\ &= \frac{1}{2} \Big[\gamma_{\lambda(b-a)} \Big(\alpha + 2, \frac{1}{2} \Big) + \int_{\frac{1}{2}}^{1} u^{\alpha+1} e^{-\lambda(b-a)u} \mathrm{d}u - 2 \int_{\frac{1}{2}}^{1} u^{\alpha} e^{-\lambda(b-a)u} \mathrm{d}u + \int_{\frac{1}{2}}^{1} u^{\alpha-1} e^{-\lambda(b-a)u} \mathrm{d}u \Big] \\ &= \frac{1}{2} \Big\{ \gamma_{\lambda(b-a)} \Big(\alpha + 2, \frac{1}{2} \Big) + \Big[\gamma_{\lambda(b-a)} (\alpha + 2, 1) - \gamma_{\lambda(b-a)} \Big(\alpha + 2, \frac{1}{2} \Big) \Big] \\ &- 2 \Big[\gamma_{\lambda(b-a)} (\alpha + 1, 1) - \gamma_{\lambda(b-a)} \Big(\alpha + 1, \frac{1}{2} \Big) \Big] + \Big[\gamma_{\lambda(b-a)} (\alpha, 1) - \gamma_{\lambda(b-a)} \Big(\alpha, \frac{1}{2} \Big) \Big] \Big\} \,. \end{split}$$

Analogously, we can get

$$\Delta_{2} = \frac{1}{2} \left\{ 2\gamma_{\lambda(b-a)} \left(\alpha + 1, \frac{1}{2} \right) - \gamma_{\lambda(b-a)} \left(\alpha + 2, \frac{1}{2} \right) + \left[\gamma_{\lambda(b-a)} (\alpha, 1) - \gamma_{\lambda(b-a)} \left(\alpha, \frac{1}{2} \right) \right] - \left[\gamma_{\lambda(b-a)} (\alpha + 2, 1) - \gamma_{\lambda(b-a)} \left(\alpha + 2, \frac{1}{2} \right) \right] \right\},$$
(2.20)

$$\Delta_{3} = \frac{1}{2} \left\{ 2\gamma_{\lambda(b-a)} \left(\alpha + 1, \frac{1}{2} \right) - \gamma_{\lambda(b-a)} \left(\alpha + 2, \frac{1}{2} \right) + \left[\gamma_{\lambda(b-a)} (\alpha, 1) - \gamma_{\lambda(b-a)} \left(\alpha, \frac{1}{2} \right) \right] - \left[\gamma_{\lambda(b-a)} (\alpha + 2, 1) - \gamma_{\lambda(b-a)} \left(\alpha + 2, \frac{1}{2} \right) \right] \right\},$$

$$(2.21)$$

and

$$\Delta_{4} = \frac{1}{2} \left\{ \gamma_{\lambda(b-a)} \left(\alpha + 2, \frac{1}{2} \right) + \left[\gamma_{\lambda(b-a)} (\alpha + 2, 1) - \gamma_{\lambda(b-a)} \left(\alpha + 2, \frac{1}{2} \right) \right] - 2 \left[\gamma_{\lambda(b-a)} (\alpha + 1, 1) - \gamma_{\lambda(b-a)} \left(\alpha + 1, \frac{1}{2} \right) \right] + \left[\gamma_{\lambda(b-a)} (\alpha, 1) - \gamma_{\lambda(b-a)} \left(\alpha, \frac{1}{2} \right) \right] \right\}.$$

$$(2.22)$$

Consequently,

$$\begin{split} & \ln|f^*(a)| \cdot \Delta_1 + \ln|f^*(b)| \cdot \Delta_2 + \ln|f^*(a)| \cdot \Delta_3 + \ln|f^*(b)| \cdot \Delta_4 \\ & = \left[\ln|f^*(a)| + \ln|f^*(b)| \right] \left[\frac{\gamma_{\lambda}(\alpha, b-a)}{(b-a)^{\alpha}} - \frac{\gamma_{\lambda}(\alpha, \frac{b-a}{2})}{(b-a)^{\alpha}} + \frac{2\gamma_{\lambda}(\alpha+1, \frac{b-a}{2})}{(b-a)^{\alpha+1}} - \frac{\gamma_{\lambda}(\alpha+1, b-a)}{(b-a)^{\alpha+1}} \right]. \end{split}$$

Thus, we deduce

$$\begin{split} & \left| \frac{\sqrt{f(a)f(b)}}{\left[_{a}I_{*}^{\alpha,\lambda}f(b)\cdot_{*}I_{b}^{\alpha,\lambda}f(a)\right]^{\frac{\Gamma(\alpha)}{2\gamma_{\lambda}(\alpha,b-a)}}} \right| \\ & \leq \exp\left\{ \eta[\ln|f^{*}(a)| + \ln|f^{*}(b)|] \left[\frac{\gamma_{\lambda}(\alpha,b-a)}{(b-a)^{\alpha}} - \frac{\gamma_{\lambda}(\alpha,\frac{b-a}{2})}{(b-a)^{\alpha}} \right. \\ & \left. + \frac{2\gamma_{\lambda}(\alpha+1,\frac{b-a}{2})}{(b-a)^{\alpha+1}} - \frac{\gamma_{\lambda}(\alpha+1,b-a)}{(b-a)^{\alpha+1}} \right] \right\} \\ & = \exp\left\{ \eta\delta[\ln|f^{*}(a)| + \ln|f^{*}(b)|] \right\} \\ & = \left[|f^{*}(a)| \cdot |f^{*}(b)| \right]^{\eta\delta}. \end{split}$$

The proof is completed.

Theorem 8. Let $f: I^{\circ} \subset \mathbb{R} \to \mathbb{R}^+$ be a *differentiable mapping on I° , $a, b \in I^{\circ}$ with a < b. For q > 1 with $p^{-1} + q^{-1} = 1$, if $|f^*|^q$ is multiplicatively convex on [a, b], then we have

$$\left| \frac{\sqrt{f(a)f(b)}}{\left[{_{a}I_{*}^{\alpha,\lambda}f(b) \cdot_{*} I_{b}^{\alpha,\lambda}f(a)} \right]^{\frac{\Gamma(\alpha)}{2\gamma_{\lambda}(a,b-a)}}} \right| \leq \exp\left\{ \eta \cdot \tau^{\frac{1}{p}} \left(\frac{\ln|f^{*}(a)|^{q} + \ln|f^{*}(b)|^{q}}{2} \right)^{\frac{1}{q}} \right\}, \tag{2.23}$$

where η is defined by (2.11) in Lemma 1 and

$$\tau = \int_0^1 \left| \gamma_{\lambda(b-a)}(\alpha, t) - \gamma_{\lambda(b-a)}(\alpha, 1-t) \right|^p dt.$$

Proof. Making use of Lemma 1 and Hölder's inequality, we deduce

$$\frac{\sqrt{f(a)f(b)}}{\left[aI_*^{\alpha,\lambda}f(b)\cdot_*I_b^{\alpha,\lambda}f(a)\right]^{\frac{\Gamma(\alpha)}{2\gamma_{\lambda}(\alpha,b-a)}}} \\
= \left|\int_0^1 \left[f^*(at+(1-t)b)^{\eta(\gamma_{\lambda(b-a)}(\alpha,t)-\gamma_{\lambda(b-a)}(\alpha,1-t))}\right]^{dt}\right| \\
\leq \exp\left\{\int_0^1 \left|\ln f^*(at+(1-t)b)^{\eta[\gamma_{\lambda(b-a)}(\alpha,t)-\gamma_{\lambda(b-a)}(\alpha,1-t)]}\right| dt\right\} \\
= \exp\left\{\int_0^1 \left|\eta\left[\gamma_{\lambda(b-a)}(\alpha,t)-\gamma_{\lambda(b-a)}(\alpha,1-t)\right]\cdot \ln f^*(at+(1-t)b)\right| dt\right\} \\
= \exp\left\{\int_0^1 \left|\eta\left[\gamma_{\lambda(b-a)}(\alpha,t)-\gamma_{\lambda(b-a)}(\alpha,1-t)\right]\right|\cdot \left|\ln f^*(at+(1-t)b)\right| dt\right\}.$$

Due to the Hölder's inequality, we have

$$\left| \frac{\sqrt{f(a)f(b)}}{\left[aI_*^{\alpha,\lambda} f(b) \cdot_* I_b^{\alpha,\lambda} f(a) \right]^{\frac{\Gamma(a)}{2\gamma_{\lambda}(\alpha,b-a)}}} \right| \leq \exp\left\{ \eta \left(\int_0^1 \left| \gamma_{\lambda(b-a)}(\alpha,t) - \gamma_{\lambda(b-a)}(\alpha,1-t) \right|^p dt \right)^{\frac{1}{p}} \right.$$

$$\times \left(\int_0^1 \left| \ln f^*(ta + (1-t)b) \right|^q dt \right)^{\frac{1}{q}} \right\}.$$
(2.25)

By virtue of the multiplicative convexity of $|f^*|^q$, we obtain

$$\int_{0}^{1} \left| \ln f^{*}(at + (1 - t)b) \right|^{q} dt \le \int_{0}^{1} \left[t \ln |f^{*}(a)|^{q} + (1 - t) \ln |f^{*}(b)|^{q} \right] dt$$

$$= \frac{\ln |f^{*}(a)|^{q} + \ln |f^{*}(b)|^{q}}{2}.$$
(2.26)

Combining (2.26) with (2.25), we know that Theorem 8 is true. Thus the proof is completed.

Remark 5. Considering Theorem 8, we have the following conclusions:

(i) If we choose
$$\lambda = 0$$
, then we have

$$\left| \frac{\sqrt{f(a)f(b)}}{\left[{_{a}I_{*}^{\alpha}f(b) \cdot_{*} I_{b}^{\alpha}f(a)} \right]^{\frac{\Gamma(\alpha+1)}{2(b-a)^{\alpha}}}} \right| \leq \exp\left\{ \frac{1}{2} \left(\int_{0}^{1} |t^{\alpha} - (1-t)^{\alpha}|^{p} dt \right)^{\frac{1}{p}} \left(\frac{\ln|f^{*}(a)|^{q} + \ln|f^{*}(b)|^{q}}{2} \right)^{\frac{1}{q}} \right\}$$

$$\leq \exp\left\{ \frac{1}{2} \left(\frac{1}{\alpha p + 1} \left(2 - \frac{1}{2^{\alpha p - 1}} \right) \right)^{\frac{1}{p}} \left(\frac{\ln|f^{*}(a)|^{q} + \ln|f^{*}(b)|^{q}}{2} \right)^{\frac{1}{q}} \right\}.$$

To prove the second inequality above, we use the fact

$$\left[(1-t)^{\alpha} - t^{\alpha} \right]^p \le (1-t)^{\alpha p} - t^{\alpha p},$$

for $t \in [0, \frac{1}{2}]$ and

$$[t^{\alpha} - (1-t)^{\alpha}]^p \le t^{\alpha p} - (1-t)^{\alpha p},$$

for $t \in [\frac{1}{2}, 1]$, which follows from $(A - B)^q \le A^q - B^q$ for any $A \ge B \ge 0$ and $q \ge 1$. (ii) If we choose $\lambda = 0$ and $\alpha = 1$, then we have

$$\frac{\sqrt{f(a)f(b)}}{\int_{a}^{b} \left(f(u)^{\frac{1}{b-a}}\right)^{\mathrm{d}u}} \le \exp\left\{\frac{1}{2} \left(\frac{1}{p+1}\right)^{\frac{1}{p}} \left(\frac{\ln|f^{*}(a)|^{q} + \ln|f^{*}(b)|^{q}}{2}\right)^{\frac{1}{q}}\right\}.$$

Theorem 9. Let $f: I^{\circ} \subset \mathbb{R} \to \mathbb{R}^+$ be a *differentiable mapping on I° , $a, b \in I^{\circ}$ with a < b. If $|f^*|^q$, q > 1, is multiplicatively convex on [a, b], then we have

$$\left| \frac{\sqrt{f(a)f(b)}}{\left[{}_{a}\mathcal{I}_{*}^{\alpha,\lambda}f(b) \cdot_{*} \mathcal{I}_{b}^{\alpha,\lambda}f(a) \right]^{\frac{\Gamma(a)}{2\gamma_{\lambda}(\alpha,b-a)}}} \right|$$

$$\leq \exp \left\{ 2^{1-\frac{1}{q}} \cdot \eta \cdot \delta \left(\ln |f^{*}(a)|^{q} + \ln |f^{*}(b)|^{q} \right)^{\frac{1}{q}} \right\},$$
(2.27)

where η is defined by (2.11) in Lemma 1 and δ is defined by (2.15) in Theorem 7, respectively.

Proof. Continuing from the inequality (2.24) in the proof of Theorem 8, using the power-mean inequality, we have

$$\left| \frac{\sqrt{f(a)f(b)}}{\left[{_aI_*^{\alpha,\lambda}f(b) \cdot_* I_b^{\alpha,\lambda}f(a)} \right]^{\frac{\Gamma(\alpha)}{2\gamma_\lambda(\alpha,b-a)}}} \right|$$

$$\leq \exp\left\{\eta\left(\int_{0}^{1}\left|\gamma_{\lambda(b-a)}(\alpha,t)-\gamma_{\lambda(b-a)}(\alpha,1-t)\right|dt\right)^{1-\frac{1}{q}}\right.$$

$$\times\left(\int_{0}^{1}\left|\gamma_{\lambda(b-a)}(\alpha,t)-\gamma_{\lambda(b-a)}(\alpha,1-t)\right|\cdot\left|\ln f^{*}(at+(1-t)b)\right|^{q}dt\right)^{\frac{1}{q}}\right\}.$$

For the convenience of expression, let us define the quantities

$$J_1 = \int_0^1 \left| \gamma_{\lambda(b-a)}(\alpha, t) - \gamma_{\lambda(b-a)}(\alpha, 1-t) \right| dt,$$

and

$$J_2 = \int_0^1 |\gamma_{\lambda(b-a)}(\alpha, t) - \gamma_{\lambda(b-a)}(\alpha, 1-t)| \cdot |\ln f^*(at + (1-t)b)|^q dt.$$

According to the equalities (2.17), we have

$$J_{1} = \int_{0}^{\frac{1}{2}} \int_{t}^{1-t} u^{\alpha-1} e^{-\lambda(b-a)u} du dt + \int_{\frac{1}{2}}^{1} \int_{1-t}^{t} u^{\alpha-1} e^{-\lambda(b-a)u} du dt$$

$$= 2 \left\{ 2\gamma_{\lambda(b-a)} \left(\alpha + 1, \frac{1}{2} \right) + \left[\gamma_{\lambda(b-a)}(\alpha, 1) - \gamma_{\lambda(b-a)} \left(\alpha, \frac{1}{2} \right) \right] - \gamma_{\lambda(b-a)}(\alpha + 1, 1) \right\}.$$
(2.28)

Utilizing the multiplicative convexity of $|f^*|^q$, we obtain

$$\begin{split} J_{2} &\leq \int_{0}^{1} \left| \gamma_{\lambda(b-a)}(\alpha,t) - \gamma_{\lambda(b-a)}(\alpha,1-t) \right| \cdot \left[t \ln |f^{*}(a)|^{q} + (1-t) \ln |f^{*}(b)|^{q} \right] \mathrm{d}t \\ &= \int_{0}^{\frac{1}{2}} \int_{t}^{1-t} u^{\alpha-1} e^{-\lambda(b-a)u} \cdot \left[t \ln |f^{*}(a)|^{q} + (1-t) \ln |f^{*}(b)|^{q} \right] \mathrm{d}u \mathrm{d}t \\ &+ \int_{\frac{1}{2}}^{1} \int_{1-t}^{t} u^{\alpha-1} e^{-\lambda(b-a)u} \cdot \left[t \ln |f^{*}(a)|^{q} + (1-t) \ln |f^{*}(b)|^{q} \right] \mathrm{d}u \mathrm{d}t \\ &= \ln |f^{*}(a)|^{q} \cdot \int_{0}^{\frac{1}{2}} \int_{t}^{1-t} t u^{\alpha-1} e^{-\lambda(b-a)u} \mathrm{d}u \mathrm{d}t + \ln |f^{*}(b)|^{q} \cdot \int_{0}^{\frac{1}{2}} \int_{t}^{1-t} (1-t) u^{\alpha-1} e^{-\lambda(b-a)u} \mathrm{d}u \mathrm{d}t \\ &+ \ln |f^{*}(a)|^{q} \cdot \int_{\frac{1}{2}}^{1} \int_{1-t}^{t} t u^{\alpha-1} e^{-\lambda(b-a)u} \mathrm{d}u \mathrm{d}t + \ln |f^{*}(b)|^{q} \cdot \int_{\frac{1}{2}}^{1} \int_{1-t}^{t} (1-t) u^{\alpha-1} e^{-\lambda(b-a)u} \mathrm{d}u \mathrm{d}t \\ &= \ln |f^{*}(a)|^{q} \cdot \Delta_{1} + \ln |f^{*}(b)|^{q} \cdot \Delta_{2} + \ln |f^{*}(a)|^{q} \cdot \Delta_{3} + \ln |f^{*}(b)|^{q} \cdot \Delta_{4}, \end{split}$$

where $\Delta_i(i = 1, 2, 3, 4)$ are given by (2.19)–(2.22) in the proof of Theorem 7, respectively. Consequently,

$$\ln|f^{*}(a)|^{q} \cdot \Delta_{1} + \ln|f^{*}(b)|^{q} \cdot \Delta_{2} + \ln|f^{*}(a)|^{q} \cdot \Delta_{3} + \ln|f^{*}(b)|^{q} \cdot \Delta_{4}$$

$$= \left[\ln|f^{*}(a)|^{q} + \ln|f^{*}(b)|^{q}\right] \left[\frac{\gamma_{\lambda}(\alpha, b - a)}{(b - a)^{\alpha}} - \frac{\gamma_{\lambda}(\alpha, \frac{b - a}{2})}{(b - a)^{\alpha}} + \frac{2\gamma_{\lambda}(\alpha + 1, \frac{b - a}{2})}{(b - a)^{\alpha + 1}} - \frac{\gamma_{\lambda}(\alpha + 1, b - a)}{(b - a)^{\alpha + 1}}\right].$$
(2.29)

Combining (2.28) with (2.29), we have

$$\left| \frac{\sqrt{f(a)f(b)}}{\left[{_aI_*^{\alpha,\lambda}f(b) \cdot_* I_b^{\alpha,\lambda}f(a)} \right]^{\frac{\Gamma(\alpha)}{2\gamma_{\lambda}(\alpha,b-a)}}} \right|$$

$$\leq \exp\left\{ \eta \left(2\delta \right)^{1-\frac{1}{q}} \cdot \left(\delta \left(\ln|f^*(a)|^q + \ln|f^*(b)|^q \right) \right)^{\frac{1}{q}} \right\}$$

$$= \exp\left\{ 2^{1-\frac{1}{q}} \cdot \eta \cdot \delta \left(\ln|f^*(a)|^q + \ln|f^*(b)|^q \right)^{\frac{1}{q}} \right\}.$$

The proof is completed.

3. Examples

The main point of the results established in this paper is that the calculation of the right-hand side is much easier than that of the left-hand side. To show this, three interesting examples are demonstrated below.

Example 1. Let the log-convex function $f: (0, \infty) \to (0, \infty)$ be defined by $f(x) = 2^{x^2-3}$. If we take $a = 1, b = 2, \alpha = \frac{1}{2}$ and $\lambda = \frac{1}{4}$, then all assumptions in Theorem 5 are satisfied. The left-hand side term of (2.3) is

$$f\left(\frac{a+b}{2}\right) = f\left(\frac{1+2}{2}\right) = 2^{-\frac{3}{4}} \approx 0.5946.$$

The middle term of (2.3) is

$$\begin{split} \left[{}_{a}I_{*}^{\alpha,\lambda}f(b)\cdot_{*}I_{b}^{\alpha,\lambda}f(a)\right]^{\frac{\Gamma(\alpha)}{2\gamma_{\lambda}(\alpha,b-a)}} \\ &=\left[e^{I_{1+}^{\frac{1}{2}\cdot\frac{1}{4}}\ln f(2)}\cdot e^{I_{2-}^{\frac{1}{2}\cdot\frac{1}{4}}\ln f(1)}\right]^{\frac{\Gamma(\frac{1}{2})}{2\gamma_{\frac{1}{4}}(\frac{1}{2}\cdot1)}} \\ &=\left[e^{\int_{1}^{2}(u^{2}-3)\ln 2\cdot(2-u)^{-\frac{1}{2}}e^{-\frac{1}{4}(2-u)}\mathrm{d}u+\int_{1}^{2}(u^{2}-3)\ln 2\cdot(u-1)^{-\frac{1}{2}}e^{-\frac{1}{4}(u-1)}\mathrm{d}u}\right]^{\frac{1}{2}\int_{0}^{1}u^{-\frac{1}{2}}e^{-\frac{1}{4}u}\mathrm{d}u}} \\ &\approx 0.6461. \end{split}$$

The right-hand side term of (2.3) is

$$\sqrt{f(a) f(b)} = \sqrt{f(1) f(2)} = 2^{-\frac{1}{2}} \approx 0.7071.$$

It is clear that 0.5946 < 0.6461 < 0.7071, which demonstrates the result described in Theorem 5.

Example 2. Let the log-convex function $f: (0, \infty) \to (0, \infty)$ be defined by $f(x) = e^{x^2}$. If we take $a = 1, b = 2, \alpha = \frac{1}{2}$ and $\lambda = \frac{1}{2}$, then all assumptions in Theorem 6 are satisfied. The left-hand side term of (2.7) is

$$f\left(\frac{a+b}{2}\right) = f\left(\frac{1+2}{2}\right) = e^{\frac{9}{4}} \approx 9.4877.$$

The middle term of (2.7) is

$$\begin{split} & \left[\frac{a+b}{2} I_*^{\alpha,\lambda} f(b) \cdot_* I_{\frac{a+b}{2}}^{\alpha,\lambda} f(a) \right]^{\frac{\Gamma(\alpha)}{2\gamma_{\lambda} \left(\alpha, \frac{b-a}{2}\right)}} \\ & = \left[e^{I_{\frac{3}{2}}^{\frac{1}{2} \cdot \frac{1}{2}} \ln f(2)} \cdot e^{I_{\frac{3}{2}}^{\frac{1}{2} \cdot \frac{1}{2}} \ln f(1)} \right]^{\frac{\Gamma\left(\frac{1}{2}\right)}{2\gamma_{\frac{1}{2}} \left(\frac{1}{2} \cdot \frac{1}{2}\right)}} \\ & = \left[e^{\int_{\frac{3}{2}}^{2} u^2 (2-u)^{-\frac{1}{2}} e^{-\frac{1}{2}(2-u)} du + \int_{1}^{\frac{3}{2}} u^2 (u-1)^{-\frac{1}{2}} e^{-\frac{1}{2}(u-1)} du} \right]^{\frac{1}{2} \int_{0}^{\frac{1}{2}} u^{-\frac{1}{2}} e^{-\frac{1}{2}u} du}} \\ & \approx 10.9088. \end{split}$$

The right-hand side term of (2.7) is

$$\sqrt{f(a) f(b)} = \sqrt{f(1) f(2)} = e^{\frac{5}{2}} \approx 12.1825.$$

It is clear that 9.4877 < 10.9088 < 12.1825, which demonstrates the result described in Theorem 6.

Example 3. Let the log-convex function $\frac{f'(x)}{f(x)}$: $(0, \infty) \to (0, \infty)$ be defined by $\frac{f'(x)}{f(x)} = \frac{1}{x}$. We can get $f^*(x) = e^{\frac{1}{x}}$, f(x) = x. If we take a = 1, b = 2, $\alpha = \frac{1}{2}$ and $\lambda = \frac{1}{2}$, then all assumptions in Theorem 7 are satisfied.

The left-hand side term of (2.14) is

$$\begin{split} & \frac{\sqrt{f(a)f(b)}}{\left[_{a}I_{*}^{\alpha,\lambda}f(b)\cdot_{*}I_{b}^{\alpha,\lambda}f(a)\right]^{\frac{\Gamma(a)}{2\gamma_{\lambda}(\alpha,b-a)}}} \\ & = \frac{\sqrt{f(1)f(2)}}{\left[_{e}I_{1+}^{\frac{1}{2}\cdot\frac{1}{2}}\ln f(2)\cdot_{e}I_{2-}^{\frac{1}{2}\cdot\frac{1}{2}}\ln f(1)\right]^{\frac{\Gamma\left(\frac{1}{2}\right)}{2\gamma_{\frac{1}{2}}\left(\frac{1}{2}\cdot1\right)}}} \\ & = \frac{\sqrt{2}}{\left[_{e}I_{1}^{2}\ln u\cdot(2-u)^{-\frac{1}{2}}e^{-\frac{1}{2}(2-u)}du+\int_{1}^{2}\ln u\cdot(u-1)^{-\frac{1}{2}}e^{-\frac{1}{2}(u-1)}du\right]^{\frac{1}{2\gamma_{\frac{1}{2}}\left(\frac{1}{2}\cdot1\right)}}} \\ & \approx 0.9702. \end{split}$$

The right-hand side term of (2.14) is

$$\left[|f^*(a)|\cdot|f^*(b)|\right]^{\eta\delta} = \left(e^{\frac{3}{2}}\right)^{\frac{1}{2\gamma_{\frac{1}{2}}(\frac{1}{2},1)}\left[\gamma_{\frac{1}{2}}(\frac{1}{2},1)-\gamma_{\frac{1}{2}}(\frac{1}{2},\frac{1}{2})+2\gamma_{\frac{1}{2}}(\frac{3}{2},\frac{1}{2})-\gamma_{\frac{1}{2}}(\frac{3}{2},1)\right]} \approx 1.1480.$$

It is clear that 0.9702 < 1.1480, which demonstrates the result described in Theorem 7.

4. Conclusions

To the best of our knowledge, this is a first pervasive work on the multiplicative tempered fractional Hermite–Hadamard type inequalities via the multiplicatively convex functions. Two Hermite–Hadamard type inequalities for the multiplicative tempered fractional integrals are hereby established. An integral identity for *differentiable mappings is presented. By using it, some estimates of the upper bounds pertaining to trapezoid type inequalities via the multiplicative tempered fractional integral operators are obtained. Inequalities obtained in this paper generalize some results given by Budak and Tunç (2020) and Ali et al. (2019). Also, three examples show that the calculation of the right-hand side is much easier than that of the left-hand side. The ideas and techniques of this article may inspire further research in this field. This promising field about the multiplicative tempered fractional inequalities is worth further exploration.

Acknowledgments

The authors would like to thank the reviewer for his/her valuable comments and suggestions.

Conflict of interest

The authors declare no conflict of interest.

References

- 1. T. Abdeljawad, M. Grossman, On geometric fractional calculus, *J. Semigroup Theory Appl.*, **2016** (2016), Article ID 2.
- 2. T. Abdeljawad, P. O. Mohammed, A. Kashuri, New modified conformable fractional integral inequalities of Hermite–Hadamard type with applications, *J. Funct. Spaces*, **2020** (2020), 1–14.
- 3. S. Abramovich, L. E. Persson, Fejér and Hermite–Hadamard type inequalities for *N*-quasiconvex functions, *Math. Notes*, **102** (2017), 599–609.
- 4. P. Agarwal, Some inequalities involving Hadamard-type *k*-fractional integral operators, *Math. Meth. Appl. Sci.*, **40** (2017), 3882–3891.
- 5. B. Ahmad, A. Alsaedi, M. Kirane, B. T. Torebek, Hermite–Hadamard, Hermite–Hadamard–Fejér, Dragomir–Agarwal and Pachpatte type inequalities for convex functions via new fractional integrals, *J. Comput. Appl. Math.*, **353** (2019), 120–129.
- 6. A. Akkurt, Z. Kacar, H. Yildirim, Generalized fractional integral inequalities for continuous random variables, *J. Probab. Stat.*, **2015** (2015), 1–7.
- 7. M. A. Ali, M. Abbas, Z. Zhang, I. B. Sial, R. Arif, On integral inequalities for product and quotient of two multiplicatively convex functions, *Asian Research Journal of Mathematics*, **12** (2019), 1–11.
- 8. G. A. Anastassiou, Riemann–Liouville fractional fundamental theorem of calculus and Riemann–Liouville fractional Polya type integral inequality and its extension to Choquet integral setting, *B. Korean Math. Soc.*, **56** (2019), 1423–1433.
- 9. Y. M. Bai, F. Qi, Some integral inequalities of the Hermite–Hadamard type for log-convex functions on co-ordinates, *J. Nonlinear Sci.*, **9** (2016), 5900–5908.
- 10. M. Bakherad, M. Kian, M. Krnić, S. A. Ahmadi, Interpolating Jensen-type operator inequalities for log-convex and superquadratic functions, *Filomat*, **13** (2018), 4523–4535.
- 11. A. E. Bashirov, E. M. Kurpınar, A. Özyapıcı, Multiplicative calculus and its applications, *J. Math. Anal. Appl.*, **337** (2008), 36–48.
- 12. H. Budak, K. Özçelik, On Hermite–Hadamard type inequalities for multiplicative fractional integrals, *Miskolc Math. Notes*, **21** (2020), 91–99.
- 13. H. Budak, T. Tunç, M. Z. Sarikaya, Fractional Hermite–Hadamard-type inequalities for interval-valued functions, *P. Am. Math. Soc.*, **148** (2020), 705–718.
- 14. S. I. Butt, A. O. Akdemir, J. Nasir, F. Jarad, Some Hermite–Jensen–Mercer like inequalities for convex functions through a certain generalized fractional integrals and related results, *Miskolc Math. Notes*, **21** (2020), 689–715.
- 15. M. A. Chaudhry, S. M. Zubair, Generalized incomplete gamma functions with applications, *J. Comput. Appl. Math.*, **55** (1994), 99–124.

- 16. F. X. Chen, Extensions of the Hermite–Hadamard inequality for harmonically convex functions via fractional integrals, *Appl. Math. Comput.*, **268** (2015), 121–128.
- 17. H. Chen, U. N. Katugampola, Hermite–Hadamard and Hermite–Hadamard–Fejér type inequalities for generalized fractional integrals, *J. Math. Anal. Appl.*, **446** (2017), 1274–1291.
- 18. M. R. Delavar, M. D. L. Sen, A mapping associated to *h*-convex version of the Hermite–Hadamard inequality with applications, *J. Math. Inequal.*, **14** (2020), 329–335.
- 19. S. S. Dragomir, Hermite–Hadamard type inequalities for generalized Riemann–Liouville fractional integrals of *h*-convex functions, *Math. Methods Appl. Sci.*, **44** (2021), 2364–2380.
- 20. S. S. Dragomir, Further inequalities for log-convex functions related to Hermite-Hadamard result, *Proyecciones (Antofagasta)*, **38** (2019), 267–293.
- 21. T. S. Du, M. U. Awan, A. Kashuri, S. S. Zhao, Some *k*-fractional extensions of the trapezium inequalities through generalized relative semi-(*m*, *h*)-preinvexity, *Appl. Anal.*, **100** (2021), 642–662.
- 22. T. S. Du, C. Y. Luo, Z. Z. Huang, A. Kashuri, Fractional trapezium-like inequalities involving generalized relative semi- (m, h_1, h_2) -preinvex mappings on an m-invex set, $Ukrainian\ Math.\ J.$, **72** (2020), 1633–1650.
- 23. T. S. Du, H. Wang, M. A. Khan, Y. Zhang, Certain integral inequalities considering generalized *m*-convexity on fractal sets and their applications, *Fractals*, **27** (2019), 1–17.
- 24. A. Fernandez, C. Ustaoğlu, On some analytic properties of tempered fractional calculus, *J. Comput. Appl. Math.*, **366** (2020), Article ID 112400.
- 25. A. G. Ghazanfari, A. Barani, Some Hermite–Hadamard type inequalities for the product of two operator preinvex functions, *Banach J. Math. Anal.*, **9** (2015), 9–20.
- 26. D. Y. Hwang, S. S. Dragomir, Extensions of the Hermite–Hadamard inequality for *r*-preinvex functions on an invex set, *B. Aust. Math. Soc.*, **95** (2017), 412–423.
- 27. İ. İşcan, S. Turhan, S. Maden, Hermite–Hadamard and Simpson-like type inequalities for differentiable *p*-quasi-convex functions, *Filomat*, **31** (2017), 5945–5953.
- 28. İ. İşcan, Weighted Hermite–Hadamard–Mercer type inequalities for convex functions, *Numer. Meth. Part. D. E.*, **37** (2021), 118–130.
- 29. A. Kashuri, T. M. Rassias, Fractional trapezium-type inequalities for strongly exponentially generalized preinvex functions with applications, *Appl. Anal. Discr. Math.*, **14** (2020), 560–578.
- 30. M. A. Khan, T. Ali, S. S. Dragomir, M. Z. Sarikaya, Hermite–Hadamard type inequalities for conformable fractional integrals, *Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Math. RACSAM*, **112** (2018), 1033–1048.
- 31. A. A. Kilbas, H. M. Srivastava, J. J. Trujillo, *Theory and Applications of Fractional Differential Equations*, North-Holland Mathematics Studies, Vol. 204, Elsevier, 2006.
- 32. M. Kunt, D. Karapinar, S. Turhan, İ. İsçan, The left Riemann–Liouville fractional Hermite–Hadamard type inequalities for convex functions, *Math. Slovaca*, **69** (2019), 773–784.
- 33. M. A. Latif, On some new inequalities of Hermite–Hadamard type for functions whose derivatives are *s*-convex in the second sense in the absolute value, *Ukrainian Math. J.*, **67** (2016), 1552–1571.

- 34. J. G. Liao, S. H. Wu, T. S. Du, The Sugeno integral with respect to α -preinvex functions, *Fuzzy Set. Syst.*, **379** (2020), 102–114.
- 35. C. Li, W. H. Deng, L. J. Zhao, Well-posedness and numerical algorithm for the tempered fractional ordinary differential equations, *Discrete Contin. Dyn. Syst.*, **24** (2019), 1989–2015.
- 36. D. Ş. Marinescu, M. Monea, A very short proof of the Hermite–Hadamard inequalities, *Amer. Math. Monthly*, **127** (2020), 850–851.
- 37. M. Matłoka, Inequalities for h-preinvex functions, Appl. Math. Comput., 234 (2014), 52–57.
- 38. P. O. Mohammed, M. Z. Sarikaya, D. Baleanu, On the generalized Hermite–Hadamard inequalities via the tempered fractional integrals, *Symmetry*, **2020** (2020), Article ID 595.
- 39. M. A. Noor, K. I. Noor, S. Iftikhar, C. Ionescu, Some integral inequalities for product of harmonic log-convex functions, *Politehn. Univ. Bucharest Sci. Bull. Ser. A Appl. Math. Phys.*, **78** (2016), 11–20.
- 40. C. P. Niculesau, The Hermite–Hadamard inequality for log-convex functions, *Nonlinear Anal.*, **75** (2012), 662–669.
- 41. E. R. Nwaeze, S. Kermausuor, A. M. Tameru, Some new k-Riemann–Liouville fractional integral inequalities associated with the strongly η -quasiconvex functions with modulus $\mu \ge 0$, J. Inequal. Appl., **2018** (2018), 1–10.
- 42. G. Rahman, K. S. Nisar, T. Abdeljawad, Tempered fractional integral inequalities for convex functions, *Mathematics*, **2020** (2020), Article ID 500.
- 43. F. Sabzikar, M. M. Meerschaert, J. H. Chen, Tempered fractiononal calculus, *J. Comput. Phys.*, **293** (2015), 14–28.
- 44. M. Z. Sarikaya, E. Set, H. Yaldiz, N. Başak, Hermite–Hadamard's inequalities for fractional integrals and related fractional inequalities, *Math. Comput. Model.*, **57** (2013), 2403–2407.
- 45. M. Z. Sarikaya, H. Yildirim, On Hermite–Hadamard type inequalities for Riemann–Liouville fractional integrals, *Miskolc Math. Notes*, **17** (2016), 1049–1059.
- 46. E. Set, M. A. Ardiç, Inequalities for log-convex functions and *p*-function, *Miskolc Math. Notes*, **18** (2017), 1033–1041.
- 47. W. B. Sun, Q. Liu, New Hermite–Hadamard type inequalities for (α, m) -convex functions and applications to special means, *J. Math. Inequal.*, **11** (2017), 383–397.
- 48. J. R. Wang, J. H. Deng, M. Fečkan, Exploring *s-e-*condition and applications to some Ostrowski type inequalities via Hadamard fractional integrals, *Math. Slovaca*, **64** (2014), 1381–1396.
- 49. B. Y. Xi, F. Qi, Some integral inequalities of Hermite–Hadamard type for *s*-logarithmically convex functions, *Acta Math. Sci. Ser. B (Engl. Ed.)*, **35** (2015), 515–526.
- 50. G. S. Yang, K. L. Tseng, H. T. Wang, A note on integral inequalities of Hadamard type for log-convex and log-concave functions, *Taiwan. J. Math.*, **16** (2012), 479–496.
- 51. Y. P. Yu, H. Lei, G. Hu, T. S. Du, Estimates of upper bound for differentiable mappings related to Katugampola fractional integrals and *p*-convex mappings, *AIMS Math.*, **6** (2021), 3525–3545.
- 52. Y. Zhang, T. S. Du, H. Wang, Y. J. Shen, Different types of quantum integral inequalities via (α, m)-convexity, J. Inequal. Appl., 2018 (2018), 1–24.

53. X. M. Zhang, W. D. Jiang, Some properties of log-convex function and applications for the exponential function, *Comput. Math. Appl.*, **63** (2012), 1111–1116.



© 2021 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0)